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Note to the students:- All the Questions are compulsory and carry equal marks .      
	Q1. 
	When the particles of the shaft or disc move approximately perpendicular to the axis of the shaft, then the vibrations are known as ___________

	Option A:
	Longitudinal vibrations

	Option B:
	Transverse vibrations

	Option C:
	 Torsional vibrations

	Option D: 
	 Longitudinal vibrations and Torsional vibrations

	
	

	Q2.
	In damped free vibrations, which parameters indicate vibrations?

	Option A:
	Superposition

	Option B:
	Rate of decay of amplitude

	Option C:
	Rayleigh quotient

	Option D:
	Approximation

	
	

	Q3.
	For an under damped harmonic oscillator, resonance

	Option A:
	occurs when excitation frequency is greater than undamped natural frequency

	Option B:
	occurs when excitation frequency is less than undamped natural frequency

	Option C:
	occurs when excitation frequency is equal to undamped natural frequency

	Option D:
	never occur

	
	

	Q4.
	The accelerometers are commonly used in vibration measurement due to their ___________.

	Option A:
	small size and low sensitivity

	Option B:
	the large size and high sensitivity

	Option C:
	the large size and low sensitivity

	Option D:
	small size and high sensitivity

	
	

	Q5.
	In a damped spring-mass system, if the mass is halved and the spring stiffness is doubled, the logarithmic decrement is

	Option A:
	Halved

	Option B:
	Doubled

	Option C:
	Unchanged

	Option D: 
	Quadrupled

	
	

	Q6.
	Determine logarithmic decrement, if the amplitude of a vibrating body reduces to 1/6th in two cycles.

	Option A:
	0.223

	Option B:
	0.8958

	Option C:
	0.3890

	Option D: 
	0.5

	
	

	Q7. 
	For the same dimensions of the shaft which of the following has the greater natural frequency?

	Option A:
	Transverse

	Option B:
	Longitudinal

	Option C:
	Depends on thickness

	Option D: 
	Depends upon length

	
	

	Q8. 
	Which of the following statements is true about stroboscope?

	Option A:
	Stroboscope is non-contact type frequency instrument

	Option B:
	Stroboscope can measure frequency upto 5 Hz

	Option C:
	Stroboscope uses electromagnetic radiations to measure frequency

	Option D: 
	Stroboscope used to measure temperature of machine

	
	

	Q9.
	Rotating shaft tends to vibrate violently at whirling speeds because

	Option A:
	the shaft are rotating at vary speeds

	Option B:
	bearing center line coincide with the shaft axis

	Option C:
	the system is unbalanced

	Option D: 
	resonance is caused due to heavy weight of the rotor

	
	

	Q10. 
	Calculate damping ratio from the following data:
mass = 150Kg, natural frequency = 10 rad/s, damping coefficient = 800 Ns/m

	Option A:
	02666

	Option B:
	0.277

	Option C:
	0.377

	Option D: 
	0.477

	
	

	Q11. 
	The speed at which the shaft runs so that the additional deflection from the axis of rotation of the shaft becomes infinite, is known as _________

	Option A:
	Whirling speed

	Option B:
	Rotational speed

	Option C:
	Stabilizing speed

	Option D: 
	Reciprocating speed

	
	

	Q12. 
	Which of the following type of viscous damping will give periodic motion to the vibrating body?

	Option A:
	Un damping system

	Option B:
	Critical damping system

	Option C:
	Over damping system

	Option D:
	Under damping system

	
	

	Q13.
	The static deflection of a spring due to a mass of 4 kg is suspended from it, is 5mm. Assume the acceleration due to gravity g =10 m/s2 . The stiffness of the spring is

	Option A:
	8000 N/m

	Option B:
	9000 N/m

	Option C:
	1000 N/m

	Option D: 
	4000 N/m

	
	

	Q14. 
	Calculate damping coefficient from the following data:
damping force =400N, relative velocity = 200mm/sec

	Option A:
	2000N-s/m

	Option B:
	4000N-s/m

	Option C:
	8000N-s/m

	Option D: 
	2N-s/m

	
	

	Q15.
	Eddy current damping is an example of

	Option A:
	Coloumb damping

	Option B:
	Hysterisis damping

	Option C:
	Viscous damping

	Option D: 
	Dry friction damping

	
	

	Q16. 
	At which frequency ratio, phase angle increases as damping factor increases

	Option A:
	When frequency ratio is less than unity

	Option B:
	When frequency ratio is more than unity

	Option C:
	When frequency ratio is zero

	Option D: 
	When frequency ration is 2

	
	

	Q17.
	Calculate coefficient of viscous damper, if the system is critically damped.
Consider the following data: Mass of spring mass damper system = 350 kg,
 Static deflection = 2 x 10–3 m, Natural frequency of the system = 60 rad/sec

	Option A:
	100.5 x 103 N-s/m

	Option B:
	80 x 103 N-s/m

	Option C:
	42 x 103 N-s/m

	Option D:
	24 x 103 N-s/m

	
	

	Q18.
	The speed, at which the shaft runs so that the additional deflection of the shaft from the axis of rotation becomes …………, is known as critical or whirling speed.

	Option A:
	Zero

	Option B:
	Minimum

	Option C:
	Maximum

	Option D: 
	Infinite

	
	

	Q19. 
	Which of the following is a type of untuned vibration absorber?

	Option A:
	Houdaille damper

	Option B:
	Torsional vibration absorber

	Option C:
	Centrifugal pendulum absorber

	Option D: 
	Coulomb’s damper

	
	

	Q20.
	From the following, which one is used in an accelerometer?

	Option A:
	Dielectric crystals

	Option B:
	Piezoelectric crystals

	Option C:
	Optic crystals

	Option D:
	Diamond

	
	

	Q21.
	When frequency ratio (ω/ωn) is greater than unity, phase angle decreases as 

	Option A:
	Damping factor increases

	Option B:
	Damping factor decreases

	Option C:
	Rate of decay increases

	Option D: 
	Rate of decay decreases

	
	

	Q22. 
	The unbalanced primary couple caused due to reciprocating mass of each cylinder is given as

	Option A:
	mrlω2 cos θ

	Option B:
	mrlω (cos θ / n)

	Option C:
	mrlω2 cos 2θ

	Option D: 
	mrω2 cos 2θ

	
	

	Q23.
	Which of the following conditions should be satisfied for complete balancing of multi-cylinder inline engines?  

	Option A:
	Primary couples should be balanced

	Option B:
	Secondary couples should be balanced

	Option C:
	Both Primary & secondary couple must be balanced

	Option D: 
	Only Primary forces must be balanced

	
	

	Q24. 
	Calculate logarithmic decrement if damping factor is 0.4

	Option A:
	1.36

	Option B:
	2.724

	Option C:
	5.16

	Option D: 
	2.19

	
	

	Q25.
	The balancing of rotating and reciprocating parts of an engine is necessary when 
it runs at

	Option A:
	Slow speed

	Option B:
	Medium speed

	Option C:
	High speed

	Option D: 
	Regulate speed
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